Algebra and Trigonometry — Joysheet 9
MAT 150, Fall 2013 — D. Ivansgi¢

1. (6pts) The graph of a function f is
given.

a) Is this function one-to-one? Justify.

b} If the function is one-to-one, find the
graph of f~!. labeling the relevant points.
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Show all your work!
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2. (12pts) Let g(z) = T Find the formula for ¢7*. Find the domain and range of g*.
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3. (8pts) Evaluate without using the calculator:
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log, 32 = S logg & = —2 logg, 3 = ch‘ log. vell = 2 i
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4. (4pts) Use your caleulator to find

log, 100 with accuracy 6 decimal places.
Show how you obtained your number.
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5. (6pts) If vou invest $4,000 in an account bearing 4.15%, compounded daily, how much

iz in the account in 3 years?
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6. (3pts) Find the domain of f(z) = log.(3x — 1).
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7. [(9pts) A restaurant purchased a six-burner range for $7,000. The value of the range
each vear is 85% of the value of the preceding vear, so its value after t years is given by
V(#) = T000(0.85)",
a) Sketch the graph of V(i).
b) Find the value of the range after 0, 2 and 5 years,
c¢] Use the intersect feature on the calculator to estimate when the value of the range will
be $1.000
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8. (12pts) Using transformations, draw the graphs of f{z) = 1-2-3* and g(x) = 2logz + 4.
Explain how you transform graphs of basic functions in order to get the graphs of f and g.
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